PaRrTS LisT: PrRIvESS™ Basic PRIVACY SCREEN

a o
: Medical Furnishings

3130-3139 (Full Height 3-Panel Screen) / 3140-3149 (Short 3-Panel Screen)

3130 Model

PARTS LIST
Image QTY per
Number Note Part Number Description Product
| A | N/A |313 SCREEN FRAME | 1
2 211650K [SCREEN LEG W/CASTERS ASSEMBLY KIT (313-342) 2
2A B 211610 DOUBLE LEG 313/342 2
2B B 566506 SCREW-MACH 1/4-20 X1 1/2 RND PHIL M/S ZINC 4
2B B 566204 NUT-1/4-20 HEX NYLON LOCKNUT ZINC 4
2C 701700 CRUTCH TIP 1" BLACK 4
NOTES
Note Description
A This part is not available for purchase
B Parts MUST be ordered in the abowe listed kit. These items can NOT be sold seperately.

Page 10of 3




3140 Model

cC @

1 A N/A |314 SCREEN FRAME 1
2 211615K SCREEN LEG W/CASTERS ASSEMBLY KIT (314) 2
2A B 211615 WELDED DOUBLE LEG 314 2
2B B 566506 SCREW-MACH 1/4-20 X 1 1/2 RND PHIL M/S ZINC 4
2B B 566204 NUT-1/4-20 HEX NYLON LOCKNUT ZINC 4
2C B 700701 1" RD X 18 GA BLACK CAP 4
NOTES
A This part is not available for purchase
B Parts MUST be ordered in the abowe listed kit. These items can NOT be sold seperately.




Page 3 of 3

PARTS LIST
Image QTY per
Number Note Part Number Description Product
1A 299800 313/314 VINYL PANEL STANDARD WHITE 3
1A 299300 FLAT 313 SCREEN PANEL 3
1A A 2998XX 313 SURE CHEK PANEL 3
1A A 2993XX FLAT 313 SURE CHEK PANEL 3
1B 302005 313 SCREEN ROD, ALUMINUM 6
1C 704313 INSERT, SCREEN ROD PLASTIC, 313 12
1D 302015 SPRING, SCREEN ROD 6
NOTES
Note Description
A XX- For SURECHEK use color code for specific part number i.e. 93 - Mint (299893)
B Pleated Panels can be replaced with FLAT panels. A gty. of 3 is reccommended when

PL-3130-3140 REV. 03

@ - 05.08.18
D Winco CONTACT US

e A To arrange a demonstration or to speak with one of our associates, please feel free to contact us at:
o 800-237-3377 | WincoMfg.com | 5516 SW 1st Lane, Ocala, FL 34474 | Info@WincoMfg.com




